. 7

Chemistry : Section-A (Q. No. 51 to 85) |

| FOR ANSWER KEY CLICK HERE e 1ol® |
= K i

= 39'4
"N %

The compound that will under 1 reacti
with the fastest rate is go Sy’ reaction | 51 g it ot wad e & & Sy ! afufehan wom, :
B Br
o»{ - @ ©/ 'S M - @ ©/ ,
CH, wl CHy4 1
©/g\,m () O/\B,. 3) '©/‘\Br (4 O/\Br
b 4
52 The highest number offi&lium atoms is in 520 it a1 Gﬁat’ o Ee ¥
(1) 4uofhelium  ~J (1) #fmad4ud
\_8;/4 g of helium & i (2) dfaan s 4gd
2.271098 L of helium at STP (3) waddr. ux dferaw % 2.271098 LA
(4) 4 mol of helium (4) Eferad % 4 =@l &
. * n,:] . _ ) .
53 In which of the following processes entropy | 53 Frefafaa & & 6 ;raaérﬁ Ty et 2 7
increases? bl A. TH w9 F aifeag g ¥
g' ‘%“q‘“d evaporates {9 vapour. " B. us hreea ord sram 130 K & 0 K as 921 ¥1
. ﬁiﬁ;’pfgaglllgetoog aK a_:;stallme solid lowered / C. 2NaHCOB(s)_’NaiCO3(s)+COZ(g)+ H,O(g)
C. 2 NaHCOj3 —>Na;COy g+ N D. Clyg—22Clg
D. Clyy—2 Clg 555/(‘?93‘5) CO2p+H20) i frg o et 8y e P
Choose the correctanswer from the options givéen (1) A,BsTD (2) A,CsiTD
below: (3) CskD (9 AdRC
(1) A,BandD N(2Y A,CandD _ o I
(3) CandD - (4) AandC - 54 m:mgs@ﬁ?mazﬁﬁaﬁwﬁaaam%?
ny ) NO;™*
54  Intramolecular hy;]iroogérf}bonding is present in (1) o /©/ i:: 2 y
N ea o 7 A
Ho % @ NENY -
@ it HO G 7 o
. @ (@) HE- .. - A/
HO 1 ’ NO, .
(3) HE /WV 4) @i ~
J){INOZD ~es o B
OH ;*‘} 55 He* o & o ot (n = 1) ¥ feell s &
: sk 3 o a Rl
55  The energy of an electron in the ground state Wﬁfx‘]%’ o= B?-@—u{f‘ﬁ?ﬁg ;a;n : |
(n = 1) for He" ion is —xJ, then that for an electron g % fag J A SISURE
in n = 2 state for Be3*.jgn in J is : ) X ;3‘:(52) 4
X :~ 9 ’ T
) -3 & -ax !
. 4 3) —gx | D —X
B) -gx (3 —x B '
) 56  Mn3*/Mn2* gua Hifeq E° AW Crit/Crt =
56  The E° value for the Mn3*/Mn?" couple is more Fe3*/Fe2* ¥ frafiad Giad b hieel st s
positive than that of Ce/Cr?* or Fe3*/F et due aa ¥ ¥ v
to change of v 5 d2 Rrmg -
() b d? conﬁgurzgiiion () d4 o d5 - — 1 -
2y~ d* to d° configurafion (2) diud TS
3) d3tod’ urAth 3g d° famarE S
(3) d3to d° configuration 3) d p e
(4) d5 to d* configuration (4) &3 d* fa=m : &4 Zn
R6_Hindi+English ] [ I 13(’/0’ w1 . th Qo M ] Contd«- '

D :-\—‘—-“ ;.1 L3 \\S



https://t.me/NEET2024ANSWERKEY

57

59

“

(

P Y. Y

. FOR ANSWER KEY CLICK‘HER(E/

o

, 2
2 sl
‘ C
(o
" : difires 7 < el e
A compound with a molecular formula of CeHyy [ 57 GT"ITf’ CeHig WQ’; 3, Sfery
has two tertiary carbons. Its IUPAC name is: %-l FHHI g g gL A e
(1) T2-methylpentane (1) 2-Af¥em=2=
(.3_) g.3-ginw::\y:{m:anc (2) 2,3-sERfrerErE
.2-dimethylbutane "
(4) n-hexane (3) 2. 2-srAfEey;
(4) n-Ew
Given below are two statements:
Sta{cmcn; I“: Theﬂboilil:{g point of three isomeric 58 A dr we o T d
pentanes follows the order & iy fo5 Frefi
n-pentane > isopentane > neopentane For L 3t . & B
Statement ITI : When branching increases, the BT AT B & .
molecule attains a shape of sphere. This results N0 > grade > frafidT
;E Sl.ﬂi:l]el‘ s;xrfa?e afx:ea for l;:‘ontm::t, ciue t0|Wh' it:l} Fo I : 579 9 9T 3, 99 Y] U T 7 HATHTT
e intermolecular forces etween. the sp herica & AT 31 3 RoTEEY, T R 9% de
molecules are weak, thereby lowering the boiling 2 A
point. & B e & forads wreoT et soyet 3 ey SIS
In the light of the above statements, choose the - I g B o ¥ o) 39 e FIGTI% HH 31 A2
most appropriate answer from the options given SUR f&q Tq weEl % emHmy Ux, T f&q Tu famei 3
below: Tatfires :
A SUGH IAX GG
1 ‘ X c
@)) ﬁg;l;r:cttatement I and Statement II are (1) e I 8f et 11 & e %
(2) Statement I is correct but Statement II is 2 Ho 1 A g HA 1 T ¥
incorrect. _ (3) ®IT I 7Tera ¥ uig %o [[ o 3
3) Stgterr;ent Lis incorrect but Statement II is (4) BT R B 11 57 9 )
ect. .
-\w/;::i‘statemeﬁtl and Statement Il are correct. :
= - 59w siftereiet @ veeihig Wi Rrefaiag saiawer
Identify the correct reagents that would bring H :
about the following transformation. ' >
20 = 0,,40 o O—CHZ—CH=CH»,_—>
: { —cH,-cH, - cro
O—CHZ—CHZ— CHO ‘- . o
(1) () BHy
. [S)
(1 () BH, (i) H,0, / OH
€]
() H,0, / OH (i) v,
(iii) PCC B (2 () BH;
(2) (i) BH; B ©
s (i) 1-1202 OH
(if) Hzoz/ OH K (iii) &ma KMnO,
(iii) alk. KMnO
T 4 (iv) H,0®
- 1o 3) (i) H,OM*
i
() () H,OH* 4 @) O H
) () HOMH* (4 () H,OMH*
(i) Cro, (i) CrO; -
: : 3 . . & R B TR olltd...
R6_Hindi+English ] ' - 14 x . Lc
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Which plot of In Kk vs -}- is cons&&\} with

60
Arrhenius equation?
1 / )
=~ -~
=
M = 2 =
T +
v
T
e R
Z @ Z
1 1
T T =
61  Themost stable carbocation among the following
is:
° CH
EB?' | 3
1) cH, ~ H\ / ?H
CH,

CH,
“4) H,C P g )\ CH,

3

62 Match List I wit] st I1.
ListI List IT

(Process) (Conditions)

A. Isothermal I.  No heat exchange
process 4

B. Isochoric II. Carried out at
process constant temperature

C. Isobaric III. Carried out at
process constant volume

D. Adiabatic IV. Carried out at
process constant pressure

Choose the correct answer from the options given
below:

(1) A-1V, B-II, C-III, D-1
\-((j;}/l: B-II, C-I1I, D-IV
&7 A-II, B-1II, C-1V, D-I

(4) A-1V, B-III, C-II, D-1

R6_Hindi+English |

><‘*'“
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60

61

62

1 N
C

95{‘2'/
Rl

Prefaftaa % & #v @ In k afit
amtfrrg v & arqemt ¥ 7

T & @ amr@

-
-

I
= =
T

\

| Ink—>

(1)

| Ink—

L_ L@y

—>

| Ink—

3

L
T

Prefifag & & ga@ aifts @l sEwE 3

/(I:H
2

@

¢
~H Nch
CH; .

M cxy,

@) O—CHz

CH;

3) ’

CH,
@ g™ gH/kCHs

-

Tt 1 w1 gt 11 3 e e @i

T 1 (%) T I (Raf)

BERINIRR R L @i o e @

oAt W 1L et an o o Rl

ST WehH Il fRex o@ad @t |
SRR - ¢

w

EEST WA V.
vh%: fiw o el @ W@ ST gia:
(1)  A-1V, B-11, C-111, D-1
(2) A-l, B-11, C-11I, D-1V
3) A-IL, B-III, C-1V, D-1
4  A-1V, B-111, C-11, D-1

.’.- e :_'__'[ACOIItd...

ReR T W) &Y o B ls _' .
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63 4 1 a1 g 11 % @ e wifso:

63  Match List I with List 11. : %
List I (Complex) List IT (Type of e 1 (2Fe) T AT (et
isomerism) 1 YRTT)
A. [Co(NH3)S (Noz)]m2 fI 1 Solvate A. [C()(Nl-lz)s (NO, )JCI2 I fremasdg
~isomerism T
B. [Co(Nl{3)5 (so, )] Br W 1. Linkage B [CO(N”3 )5 (504)] Br 11, ey
1Isomerism , _ THT9g9ay
c. [co(nn | [er(en 1. Tonizatior
( 3)6 [ ( )6] onization C. [CO(NH3)6] [Cr(CN)J 1. &=
SS’ isomerism
. (H ) REIEPERI
D. l: o(H,O ]Cl3 IV. Coordination
6173 ¥ e D. [CO(H20)6:,C|3 IV, Sugesdim
~ isomerism
Choose the correct answer from the options given e TGS
below: A fe T ferepedt & WY TR giva:
(1) A-I, B-III, C-IV, D-II (1) A-I, B-III, C-1V, D-IT
(2) A-L B-1V, C-III, D-II (2) A-I B-1V, C-III, D-II

(3) ) B-I\/; C'HI, D'I

A-IL B-III, C-V, D-I

64 I gram of sodium hydroxide was treated with

25 mL of 0.75 M HCl solution, the mass of sodium

\.(h)};ch'/oaﬁ? left unreacted is equal to
250 mg (2) Zeromg

(3) A-IIL B-1V, C-III, D-I
~ (4)- A-IIL, B-III, C-1V, D-I

| A
64  wifsTH FEgiEdss &' 1g @1 0.75 M HCI faea
25 mL % @ SuAia fpar T, 9 smethipiva
QST FIEH(FASS HT FTTHT IS S

(3) 200mg (4) 750 mg (1) 250 mg (2) Zeromg
(3) 200 mg (4) 750 mg

Which reaction is NOT a redox reaction? .
(1) 2KClO; + 13 = 2 KIO; +Cl,

© ! =
@ Hy+cls>2fc” ,,
lzzﬁ%2804—>BaSO4+2NaC1_
© S
+Cti80, > ZnSO, + CP
) z8+Ci80, - ZnsS0o, ab

65

66 <Y For the reaction 2A =B+C, K_ =4x1073. Ata

65  Prefwiad ¥ & S afyfear Yetag sffsa
TEF? '
(1) 2KCIO;+1, = 2 KIO; +Cl,
(2)  H+Cl, = 2 HCI .
(3) BaCl, +Na,SO,; — BaSO, + 2 NaCl
4) Zn+CuSO,; — ZnSO, + Cu

ffpal 2A = B+C & fog Kc=4x10—3 ARG

r"’}k\‘/)z given time, the composition of reaction mixture 6

|
4 b
PV W [A]=[B]=[C]=2x1073M. v e e, e B e :
3 6‘/(\ Then, which of the following is correct? _iale [C] Ty ¥
' qQ - (1) Reaction has a tendency to go in forward [A]‘[ 1= =
* : direction. &, Rreffaa ¥ @ SE-w @ ¥ ?

L (1) arffear @ o feen & 1 o 9P )

¥

1° (2) Reaction has a tendency to go in backward
\_Aﬂ Hrection. e (2) arfufear @ ag" fan F W B wafa &)
- R'eactfon has gone to completion in forward (3) ifimar om feen & Tt & ekl P
direction. (4) sfufpar @ ot

Reaction is at equilibrium.

Q)
“ [ COﬂtda_-ov

\ 16_»\4?@

R6 Hindi+English ]
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67  Match List I with List 11,
List I List 11
(Compound) (Shape/geometry)
A. NH; 1. Trigonal Pyramidal
B. BrFs II.  Square Planar
C. XeF, Il Octahedral
D. SFq IV. " Square Pyramidal

Choose the correct answer from the options given
below:

(1) A-IL B-1V, C-111, D-1
(2) A-IIL, B-1V, C-1, D-11

3) B-I11, C-IV, D-I

A-l, B-IV, C-11, D-1II
On heating, some solid substances change from
solid to vapour state without passing through

liquid state. The technique used for .the
purification of such solid substances based on the

above principle is known as
\ua/sl:;rl?mation (2) Distillation

(3) Chromatography (4) Crystallization

68

69 In which of the following equlllbrla K, and K,

are NOT equal?

(1) Hyg) + 1 = 2 Hlg

(2) COg+H;0g = COxg+Hag

() 2BiCly = Bryg + Clyy
\)9%‘(5@ = PClyg) * Clyg

Among Group 16 elements, which one does NOT

70
. show —2 oxidation state? (®]
| (1)_ Se (2) Te - e
| 3 o 4 O A
‘ - RO
71 Given below are two statements:

Group 16 elements follow the order

H,0 > H,Te > H,Se > H,S.

Statément II : On the basis of molecular mass,
H,0 is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,O, it has
higher boiling point.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement II are false.
(2) Statement I is true but Statement II is false.
(3) Statement I is false but Statement Il is true.
“ oth Statement I and Statement II are true.

‘ Statement I : The boilin int of hydrides of

R6_Hindi+English |
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67

68

69

70

71

17

|
e

28

515
Rl

&

et 1 a1 et 11 % wrer Prerer ahifom: z

A1 (@fter) » T 1 (3mgfy %
wifafer)

NH, [. Pt

BrFs [1. =t woaea

XeFy M. swwashd W

SF, V. = frtfedt

43 fay s Pt & a0 e g 265

(1) A-II, B-1V, C-II1, D-I .

(2) A-III, B-1V, C-1, D-II

(3) A-II, B-III, C-1V, D-I

(4) A-lL B-1V, C-II, D-III

T H Y, o Irg g ¥ BT Fa e & A
«gwmﬁqﬁaﬁaﬁaﬁ%lwmfwﬂa%

w

m
h

1+ 285

gomE>

- TR UX AR Bra yaret F o & fag agE dee

e &
(1) g
(3) aviafReaent

(2) sEaA
4) fTeea

PrafRaa amwil F § feed K, e K, AT E?
(1) Hyg +Ipg = 2 Hl,

(2) COp+ Hzo(g) = COyy) T Hyg)

“) PC‘S(g) = PClyg * Clyg ’

Sk 16 qf & q DH—TT —2 RGBT LT TE
TtaT ¥ ?
{(1)" Se
(3) Po

@ Te
4 O

ﬁ%ammﬁq’m%
Faal: H{gma'aﬁ%ms@'s@ésaamﬁmﬁm
¥ T 9T B &

H,O > H,Te > H,Se > H,S.

o 11 : aTferes FeamiH &b et a¥ H, O &1 S,
mmw%mm%mﬁm%mmo’}‘
ﬁnanmmaﬁwﬂeﬂ‘d%m FHH! ST
FIUTH BIAT & |
I i T HURl % SR WX, ﬁ%ﬁqwﬁzﬁm‘t%
& I g
(1) zﬁmlaﬁ'(iﬁmlla—«fmm%l
(2) o1 w8 ¥ uig Ha I T
(3) wuA]Twd ¥ uig Hud 1§
(4) wue 1 e waw I M 9
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(1) A-lIL B-1V, C-1, D-1I
(2) A-II, B-11I, C-I, D-1V

(3) , B-IV, C-II, D-1
M B-1V, C-I, D-1II

R6_Hindi+English |
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72 Given below are two statements: . 72 ik 51 o TR A—pFed Q%aﬁ-ﬁzb—(vr Wf‘*lﬁwq[
' Statement I : Aniline does not undergo Friedel- :?gq I: l%ﬁlﬁil ' ST
Crafts alkylation reaction. - TE B B . ,
Statement 11 : Aniline cannot heprépared through For 1 : Pl @ e HIATOT FT TE Ty il
Gabriel synth{gslis. ; | the qaar ¥
In the light of the above statements, choose the : . . Rreeay
correct answer from the options given below: I f4u 7w e &% AT Uy, i feg g ¥
(1) Both Statement 1 and Statement 11 are false. i I ghT: ) )
(2) Statement 1 is correct but Statement I1 is (1) @ [ &0 e 11 25y Terd %:l%
false. % aig % 11 TTerd 3
- e ; (2) wuFad & uig
3) Slaﬁfa 1 is incorrect but Statement 11 is (3) e [ & 0ty o 11 a %
> Both Statement 1 and Statement Il are true. (4) waa 1 3T a1 391 9T T
73 Given below are two statcn::,k\.lﬁ’/: %.? 73 A& s fiw g R
P 34 L 4 3+ 3— . e
Statement I : Both [Co(NH3)6] and [CoFﬁ] FAI: [Co(NH3 )6] T [C°F6] M degw
complexes are octahedral but differ in their IAEHADT & I3 g =ae ¥ 9= B ¥
magnetic behaviour. |~ ¥ R 34
3+ \ = gﬁma aaﬁs
Statement II : [CO(NH3)6] is diamagr% FYIL: [CO(NH3 )6:| &
— 3- .
whereas [C0F6]3 is paramagnetic. [COFGJ W%l
In the light of the above statements, choose the SUX g T et & emrE 9T, R Ry T fqeeat &
¢orrect answer from the options given below: W S gia:
\((;%/Both Statement I and Statement I1 are false. (1) w1 3 e 11 941 erg 3
=J Statement I is true but Statement II is false. 5 I8 % o 0 g &
(3) Statement] is false but Statement I is true. (2) wuw q—(@ il :
(4) Both Statement I and Statement II are true. (3) ®HFTITE ¥ g w97 I ¥
. 3 (4) B &R B I 3 g B
74 Fehling’s solution ‘A’ is
1 ine copper sulphate 74 Wi faeae A’ St 3,
2 alkalmt(eRsoll:ltli]on of] sodium potassium (1) &g 19X g%z -
tartrate (Rochelle’s salt) ATy 2R T arig
83 aqueous sodium citrate @) R , TH A (A ) 3
aqueous copper sulphate '
@) vk Ry Q- C¥b
75  The Henry’s law constant (Klﬁjgalhree (4) o HieX Tehe ,
gases (A, B, C) in water are (14 , and : .
respectively. The solubility oRthese gases 75 @i (A, B, C) & o 78 foramy m’(Kﬂ) T
in"water follow the order: : 'E ( HHAM: 145, 2x1075 3T 35 kbar ¥ 1 57 4 &1 @ ¥
() B>C>A 2) A>C>B 57 7 tﬁﬁamiﬁmﬁrﬁqammmmamﬁ%:
3) A>B>C W B>A>C 1 (1) B>C>A (2 A>C>B
i 3) A>B>C 4) B>A>
76 Match List I with List II. ) @ G
List I List IT 76 I1 Tl 11 &% s frem #hifra:
(Conversion) ')/?- (Number of . ifg\_clﬁ T TR
- Faraday required) . =
TN A ImolofH,Qto0F Lo 3F (o) (S ey
B. 1 mol of MAO7 to . 2F ' . S
W i : A. H,0% 19w % 0,3 1. 3F
C. 15molofCafrom - NI IF B. 'MnO, & 19@% Mn?*¥% 1L 2F
molten CaCl C. 7i®a CaCl,dCa® 1.5%w  IIL IF
DI mollofFecfto Fe,05 IV. SF D. 1% FeO ¥ Fe,0, § V. 5F
100se the correct answer from the options given . R X ¢
below: e feg g & T S g

(1) A-IIl, B-1V, C-I, D-11
(2) A-IL, B-II, C-I, D-IV
(3) A-IIL, B-1V, C-II, D-1
(4) A-II, B-1V, C-1, D-III

[ Contd...
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77 M%}E?:tlilst I with List I1. iian %- 77w 11 3 e Pre AR
' . . I T 11
Quantum Number Information provided gt 4
A, mBE L. shape of orbital (spatent <) (Sere AT
B. m; % Il size of orbital A my [ %% B ATpi
C. 1 ° I11.  orientation of B. mj Il. e &1 SHIT
orbital - c ! 1M1, e o afHfe=ara
D. @ IV. orientation of spin D. n V. 3oz % amol &
of electron artafa=ama :
Choose the correct answer from the options given Ara Ry e fepedl & @ sa ghw:
below: (1) A-IIL, B-IV, C-I, D-II
(1)__A-III, B-1V} C-1, D-lI (2) A-IIL, B-1V, C-II, D-1
Y L (3) A-IL B-I, C-IV, D-IIT
(3) A-II, B-1, C-1V, D-II1 4) A-1, B-III, C-II, D-IV
(4) A-L, B-III, C-II, D-IV -
. s . . . 78  Prefafaa ¥ A R emaet % Rig e 76 gaed
78  ‘Spin only’ magnetic moment is same for which- areget ars? o
of the following ions? T A TEi|3| +' ' : B. Cr2* A
A. Tt B. Cr2\ - C Mn2t D.. Fe2t
C. My D. Fe?h~ = i o e
E. Sc , g - 2 - gfm:
Choose the most appropriate answer from the Zﬁé %QWA sl Eﬁ ( 2;1?( WB aﬂ‘{ C
options given below: heaet e
(1) AandE only \%/BandConly () ¥@ASD (4 %Faa B sk D
3) AandD onl - ( B and D only ’ ' .
) g 79 %MWW&WWWE&W%
79  The reagents with which glucose does not react 3T e qEv/SdE T8 &l 8, @
to give the corresponding tésts/products are A. <fag aifedes B. B &y s
A. Tollen’s reagent B. Schiff’s reagent C. HCN D. NH,OH
C. HCN D. NH,OH E. NaHSO,
E. NaHSO : bk foraredt & w8 wo g
Choose the cgr;z:t options the given below: ) ﬁf :ﬂq_( D (2) BSiKE
(L) AandD Band® (3) EeftD 4) BaixC
(3) EandD (4) BandC
. . 80 I &1 g 11 &% @y frem st
80 MarchListlwithListll oo % i Lo SR II
i i 1S
List I (Reactions) Condition) (atrfean) (Nﬁgﬁfﬁﬂﬁ)
(0]
N
Woa OO0 L | A OO0 L O
Anhyd.AICl T A feta AICL
0 IR R .0
TeO-O0 oo b O-Or0 oo,
_OH o 2N LONSOH b N0 /
c. - 1L, KMnO,/ ey sy II. KMnO,
23 KOH, A KOH, A _
CH,CH CH,CH :
i S IV. (i) Os D. 2CHy | IV. (i) O
©,COOK (ii) Zn-H,0 COOK (i) Zn-H,0
Choose the correct answer from the options given 3 fr @ Rreeat ¥ W S g
below: (1) A-ILB-LCILDIV
(1) A1, B, C-11, D-IV (2) A-IV,B-I, C-ILD-II
2y~ A-lV, B-], C-1I, D-1II (3) A-LB-IV,C-LD-l o
) AL By, CIL DI (4) A-IV, B-I, C-IIL, D-II | o]
(4) A-1V, B-l, C-II, D-II TS
' [ Contd...
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82

c=C

83"

84

|
CH,
CH
© | 3
f (2 @G CH3—$—OH
' CH,

85

e

CINSE
& |

L4
r

Arrange the following elements in increasing
order of electronegativity:
N, O, F, C, Si ) g
Choose the correct answer from the options given
below:
(1) Si<C<O<N<F
(2) O<F<N<C«<S;i
QB) A <O<N<C<S;j

Si<C<N<O<F

Match List I with List 11.
List 1
(Molcc}g )

List II
(Number and types of
bond/s between two
carbon atoms)
1 one o-bond and
two wt-bonds
two m-bonds

one ¢ -bond and

I 0

1.

ethene
carbon
molecule, C;S'
ethyne w R A\ YA

one w-bond
Choose the correct answer from the options given
below:

(1) A-1V, B-II, C-II, D-I
\g;/flﬁl B-1V, C-II, D-I
A-m3.B-IV> C_I> D-1I

4) A-L B-1v, C-1i, D-11

Arrange the following elements in increa
order of first ionization enthalpy:
Li, Be, B, C, N

Ch]oose thetotrect answer from the options given
below:
Li<B<Be<C<N

(2) Li<Be<C<B<N
_(3) Li<Be<N<B<C(C
(4" Li<Be<B<C<N

g 0w »

C=C

sing

Which one of the following alcohols reacts

Instantaneously with Lucas reagent?

(1) cH;-cH, - CH -OH
CH,

2) CH3 - CH —CHZOH

(4) CH;-CH,-CH,-CH,0H

Activation energy of any chemical reaction can
be calculated if one knows the value of

(1) probability of collision. *

(2) orientation of reactant molecules during

tsion.
ate constant at two different temperatures.
rate constant at standard temperature.

R6_Hindi+English ] _ L\ - 0
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82

‘83

84

N

| &p”
Ly (348l L4

85

81

o[ A. wm I.
T B.
=C.

D. TwaE -

(4) = g U A Radis

.
"

rerfrfee et 2 feege FEoTeeehel 3 T 5 ¥ ey
N C, Si

N, O, F, C, Si .

N fer 7y Rrpedly  wdl ITX R

(1) Si<C<O<N<F '

(2) O<F<N<C<Si

B) F<O<N<C<Si

4) Si<C<N<OK<F

[ &1 11 3 @ frearr sifoa:

@@1 o g 11 (3 *ref7 aeampesy

(31y) ¥ omadi Fawm A

TFH)

U G-I AT

Y -

II. 2 g-emEy

III. T% o-3mEeg

IV. @& o-amay aiit
T% w-EYy

1 Rw g fRreedt & wér o gl

(1) A-IV, B-III, C-II, D-I

(2) A-II, B-1V, C-1I, D-I

(3) A-III, B-1V, C-I; D-IT

4) A-1, B-1V, C-II, D-IIT

ﬁw%ﬁgaaa?ﬁ%wwm@ﬁ%aﬁmﬁ
Zafad Bifa:

Li, Be, B, C, N
ﬁ%mwﬁw%aﬁwgﬁqz

(1) Li<B<Be<C<N:

) Li<Be<C<B<N

(3) Li<Be<N<B<C

(4) Li<Be<B<C<N

ﬁ%ﬁiﬁﬁﬁﬁﬁ%aﬁ?—mﬁﬁqﬂﬁm%

Th=
HET 3] C,

Y Areives siiifman s 2
(1) cH, -CH, - (I?H —-OH
CH,
() cn,- (l:H -CH,OH
CH3 »
CH, '
() cH,- <:: -OH
CH,

(4) CH,-CH,-CH,~CH,OH

et ot vt sififear & wheaw St afeti
1 ST e ¢ afy Prefafad & 7 s Bt
(1) oz & witeear er
(2) wuze & S sifTTE Stvsl @ eifiRmTE
(3) = = A WX A Rexiw et

el [ 'Contd..% :
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E:C:hemistry : Section-B (Q. No. 86 to 1
. 00)

86

87

88

89

90

91

Identify_}{\he correct answer.
@))
2

3)

3ROH + PCh—3RCl + A
ROH Cls;—>RClI+HCI+ B

N .
gﬁ lllas non-zero dipole moment, 0
ipole moment of NF, is or
3 reater a
oF NI g than that
Three canonical forms can be drawn for

ion.

3
Three resonance structures can be drawn for
ozone.

The pair of lanthanoid ions which are diamagnetic

(2) Gd3*and Eu3t
(4) Ce%and Yb2+

The rate of a reaction quadruples when
temperature changes from 27°C to 57°C.
Calculate the energy of activation.

Given R = 8.314 J K~ mol-1, log 4 = 0.6021
(1) 380.4 kJ/mol (2) 3.80 kJ/mol

(3) 3804 kJ/mol (4) 38.04 kJ/mol

is
(1) Ce3*and Eu?t
(3) Pm3*and Sm3+

For the given reaction:

O_ c=cH KMnOy/H* p?
S
| . (major

= product)
‘P’is

The work done during reversible isothermal

f one mole of hydrogen gas at 25°C

¥fom pressure of 20 atmosphere to 10 atmosphere

is: .
=2.0 cal K~! mol!) P
413.14 calories quYQ"‘ /'LD%%
413.14 calories CIN
(3) 100 calories 1, rh
(4) O calorie

we 7
- 3%°

The products A and B obtained in the following
reactions, respectively, are 3 RS

.7/-1;7,1\
i

(2) H;PO, and POCI;

86

87

88

89

90

591

(4) POCI; and H;PO;

R6_ Hindi+English ] -

1

wdy st g

(1) BF; @t gt fa—ya amgof #rar 21

(2) NF; @t fa-ya empf NH; % fa—yga smpf @
31f¥ren e T _

(3) cog‘m%;ﬁ‘«rqehaﬁr%amarﬁf@ﬁm
ST Gehd & |

(4) i % ferg & oS daeT ST i
zm?r%l

Adysitae et B E g S aRgEed ¥, ¥

(1) Ce¥* i Eu2t (2) Gd3* efit Eu?”

(3) Pm3* &t Sm¥* (4) Ce*t R YD?”

aaama%27°cés7°cmﬁiﬂ%mm%aa .
%{ﬁaﬁ?ﬁﬁmm%ﬂaﬂﬂ'i‘rm%lmm
qfeferd BT | F
frarmar®: R = 8.314 J K-1 mol™!, log4 = 0.6021
(1) 380.4kJ/mol  (2) 3.80 kJ/mol '
(3) 3804 kJ/mol (4) 38.04 kJ/mol

& s arfufepan & T
O_(I:=CH KMnO4/H" pr
H D © (o IAR)
‘PrE: ' ‘
(1) O—COOH 2
OH (l)H
I
@ (—cH-cH")
T
3 {)—c-C %’«E’}
@ { )—CHO ﬂ

25°C qx U Wit FESIST T % 20 QeHIREAT A §
10 eHTREET T e STV THATITE FEel & QT
Rpan a1 B ¥

(Rear 7 #: R = 2.0 cal K~! mol™1)
(1) —413.14 calories

(2) 413.14 calories

(3) 100 calories

(4) O calorie

fr=fafad sifearel & o3 SR, A ot B wa €
3ROH + PCl3—>3RC1 +A

ROH + PCls—RCl+ HCl + B

(1) POClyuwd H3PO, =

(4) POCl;ud H;PO3

{Contd..
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93

96
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Given below are certain cations. Using inorganic
qualitative analysis, arrange them in increasing
group number from 0 to VI.

A. A B. Cu?*
C. Ba22+ D. Co?*
E. Mg?t

Choose the correct answer from the options given

below:

(1) B,.CAD,E (2) EC,D,B,A

3) E,A,B,C,D 4) B,A,D, GE

The plot of osmotic pressure (IT) vs concentration
(mol L) for a solution gives a straight line with
slope 25.73 k-bar mol~1. The temperature at which
1C pressure measurement is done is:

= 0.083 L bar mol-! K- '

310°C (2) 25.73°C

12.05°C (4) 37°C

€))

A compound X contains 32% of A, 20% of Band
remaining percentage of C. Then, the empirical
formula of X is : ‘ ; et
(Given atomic masses of A=64; B=40; C = 32u)

(1) ABC,

2)"AB,C, "
(3) ABC, i anaCa I

(4) A,BC,

Majqr products A and B forined in the followiﬁg
reaction sequence, are rpe

During the preparation of Mohr’s salt solution

(Ferrous ammonium sulphate), which of the
acid is added to prevent hydrolysis of

following
Fe2* jon?
concentrated sulphuric acid
dilute nitric acid -

dilute sulphuric acid

dilute hydrochloric acid

R6_Hindi+English |

22

92

93

94

95

a o
@' Ko i .

96

T I e g g ¥ STHIETD ol
%% ST B, 5 e T 0 Ve i,
-, e m&%ﬁﬁﬁ

A.  AIB+ B. Cu2+
C. Ba2* D. Co?+
E. Mg2+

A o 1 et & ey e g

(1) B,C,A,D,E
(3) E,A,B,C,D (4) B,A,D,C,E

ﬁﬁ‘&ﬁﬁmﬁsﬁmmm(n)@m ,
m'ﬁ)b*%@%@@ﬁ*@ﬁ%mm
. ar mol™ &1 9% a9y f18 97 ey -
T Ty 3, ¥ ™ T
(R=0.083 L bar moJ-! K-1fifsg
(1) 310°C 2 25.73)°c
(3) 12.05°C (4) 37°C

qas}ﬂﬁrstﬁAas3z%,Bas20%aﬂm’rwﬁfsmc
199 X T Jermgareh g &:

(2) E,C,D,B, A

€

A= 3 =

H;C Br HC e
3) A= . B
3 TN

.o

~

AR waur faeas (B st §e%e) & e %

, A, frefafaa & @ e ovw &1 Fe2t o &

T A 3 g e T ke

' (2) g gl et

(3) F WERI(KD e
(4) T TTEIEAD ST
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97  Cdnsider the following y reaction in a sealed vessel
at equilibfium with concentrations uf
N, =3.0x 103 M. 0,=4.2 x 10-3M and
\‘O-lS\ 103 M.

NO(e) = Na(e) ¥ Ox(e)
1£0.1 mol L' of NOy, is taken in a closed vessel,
what will be degree of dissociation () of NO,

at equilibrium?
(1) 0.0889
(3) 0.717

(2) 0.8889
(4) 0.00889

98 Identify the major product C formed in the
following reaction sequence :

CH,—CH, —CH, 12,
OH~ .. NaOH _
Partial hydrolysis Br

2
G 2
: & MW
. (2) butanamide i GT-——-L""
(3) =~bromobutanoic acid
propylamine’

99  Mass in grams of copper deposited by passing
0.6487 A current through a voltmeter containing
copper sulphafe solution for 100 seconds is:
(Given : Molar massof Cu: 63 g mol~1,

C .
(major)

(1) “butylamine

1F = 96187 C)
0.315¢g ) 315¢g
(3) 0.0315¢g 4) 3.15¢g

100 Given below are two statements :

3+
Statement I : [Co(NH3)6] is a homoleptic

+
complex whereas [CO(NH3)4C]2] is a

heteroleptic complex.

3+
Statement I1 : Complex [Co(NH3 )6] has only

one kind of ligands but [Co(Nt1;) C1, | has

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Both Statement I and Statement Il are false.
(2) Statement I is true but Statement II is false.

(3) Statement I is false but Statement II is true.
Both Statement I and Statement Il are true.

63 gmol™l, 1F =96487 C)

R6_/Hindi+English ]

2__37 Gﬁo/@

M%ﬂ{m& T 6')/ g
S rb\'g 7\\/

& P S

Nz = 3.0 X '01 M. ()2 :4.2 i ]0_? M\m
NO = 2.8 x 103 M #izaraii & v ot droraz ar
i frerfaftae ey ot faare Fifs:

2NO(g) = Ny () * Oa()

afy NO,, % 0.1 mol L~ &t drereie ar # ferar
a ferdysrr s (o) @ et ?

-

(1) 0.0889 - (2) 0.8889
3) 0.717 < (4) 0.00889
o>
fPrerfifaa el w4 § = gea sae C & | 7
Pl -
cH, —CH, —CH, - -2 A 9 4107 72X P

/2
%X%Xlo

OH™ NaOH C

SRty v Br, (75) Vo 4 04
(1) =HfewH

) =S - 5*‘?’/6/
(3) o —FHEAES T

) o ~—Fewret

e aehe faeae o R Seediel | 100 &%s &

fTo. 6487Aﬁga—amqar%am%wﬁ%ﬁmw

T AT H HIH &
sfer
2) 315¢g

(ﬁﬂT’THT%:CuHﬂWiEJHH
4) 3.15¢
@ 338 o _ o) &

R & o g T ¥ -{6

(1) 0315¢
(3) 0.0315g

FuA 1 [Co(NH3)6T+‘
Wi [cé’(NH3)4 c12]+ T RS dgu k. qet
a1 g [co(ty), |7 9 o e gy

forrs ¥ wrafe [CO(NH3)4C12T ¥ uw Qo @
yHK & forrs ¥

IUT f&U Tq HUFT F MU UX, vﬁ%ﬁqmﬁ'ﬁcﬁ%
e g
(1) wu= | R »u 1l SFF o 1
() mmla@r%u‘qiﬁmllm%’i
(3) wuTIvea ¢ g wEA Il T &
(4) wuT1 3K By I a9 g S1
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